asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run3921 000 regression-asym sam?2468:vs diff:bpm-COLZ postpan.png

! . [lf ! ™ ff ! . [lf l
B B — 0L B — B
- apc n = 1ot : —{BOL
30000 30000 ot 30000 30000
- —a5( n " -
20000 20000 20000 N 20000 —50L
- —apr n —501 - 80f -
10000 — 10000 10000 — 10000 -
" " " " —|40(
o o o 6ot o
- - - - 3o
10000 10000 | 10000 | 10000 |
. N N 400 .
20000 20000 F 20000 F 20000 F 200
30000 30000 30000 20 30000 .
N [ - - [ | C
40000 | 40000 40000 | 40000 |
‘II|||III|III|III|III|III| D ‘I||||||||||||||||||||||||||II|IIII|IIII|IIIIIII {' _II|IIIIIII|III|III|III| ﬂ ‘II||I|II|IIII|IIII|IIII|I D
i 4 2 0 2 4 5 50 40 =30 -20 -10 O 10 20 30 40 40 _20 ) 20 40 &0 _20 10 0 10 20
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium
. ! ™ ff ! . [hf l
I
- - _ - —12¢ - —g0r
i 0 - ot - i
20000 20000 20000 20000
- e - " i —10 - —50(
B B B B ]
10000 —30 10000 |- e 10000 10000
B B B —{ant B
ok ok ok ok
B B B 60C B
— - - . m.
10000 10000 10000 - jponp - 0™
B B B 400 i
B i 200 i B
20000 20000 - 20000 20000
[ [ [ 300 [ 100
_ | C 100 . _
0000 m 0000 = 30000 m 0000 m
_II|||III|III|III|III|III| D _IIII|||||||||||||||||||||||II|IIII|IIII|IIIIIII {' _II|IIIIIII|III|III|III| ﬂ _II||I|II|IIII|IIII|IIII|I D
5 4 2 ) 5 4 6 50 40 -30 -20 -10 0 10 20 30 40 _4D0 _20 ) 20 40 B0 _20 10 ) 10 20
difi_bpmdaX/um diff bpmdaYium difi_bpmdaX/um difi_bpmdaY/um
diff diff diff diff hpmélcY
E —{40( : n —{70L : m | [ —gor
15000 15000 [~ 15000 15000 [~
—|35( - | 60C - —{10¢ 500
10000 |- 10000 |- 10000 |- 10000 |-
B —{ant B —{snor N N
5000 F 5000 5000 b i 801 5000
i [ [ | [ i
o o | o &0C O
5000 _5000 . 5000 N
- - - 400 C =
- . ' . - =
10000 | 10000 10000 10000
E % E 100 E 200 E 100
15000 - g 15000 [~ . 15000 15000 [~ -
Cl v v v a vy v o b e o Do b v ber b b e b Lo b 0 I N N 0 o v v o v v g by v v by v a1y o
i 4 3 0 3 4 6 50 -40 -30 -20 -10 O 10 20 30 40 _40 _230 ) 30 40 &0 _30 10 0 10 20
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium
| I | I | I | I
- —|40( i —|700 i - en
10000 |— 10000 10000 |- —{10¢ 10000 |
i —a5( i —gor | -
i i i i —5i
- —apr - - —lanc -
5000 5000 - oot 5000 5000 |
= L . L =
i - i i
i i u i BOC i
= ol = o
-5000 ~5000 - ~5000 ~5000
- 100 - | - -
| - | 200 |
[ 50 [ O [ [
10000 10000 10000 - 10000 |-
i 11 | L1 1 | 1 1 | L1 1 | 1 1 | L1 1 | i

- —{&0C
30000
- —{s01
20000
10000
0
10000 |- m
20000 20t
0000 —
- u 100
C [ |
40000
_III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
30 =20 =10 0 10 20 30
diff_bpmEfium
l-
B —{ 600
20000
B —{ 500
10000
[ 40(
D_
i [ anc
10000
- 200
20000 -
- 100
ap000 -
_III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
a0 =20 <10 0 10 20 a0
difi _bpmEfum
-
E —60t
15000 |-
N —50(
10000 —
B ]
5000 - m —40C
O a0t
- -
~5000
- 200
10000 [~
- 100
15000 [~ -
Cro ol bbb oo b oo b 0
a0 20 <10 0 10 20 a0
diff_bpmEfum
difL
i —{&0r
10000 |
i —{50¢
5000
i —lanc
. u
or 300
- 200
~5000
- 100
10000 n

III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
20 =10 0 10 20 30
diff _bpmEfum



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3g921 000

=2000

-4000

~6000

=8000

-6 —4 ) 0 2 4 &
diff_bom4aX/um

4000
3000
2000

1000

=1000

=2000

I-

=3000

—4000 u

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~>000 —¢ 4 -2 0 2 4 &

diff_bpmdaxsum

'[jlll
2000
1500
1000
500

o
~500
=1000

=1500

=2000

-2500

|
=1

~4 -2 0 2 4 [

diff_bpmdaX/um
diff

2000
1500
1000

500

~500
=1000

=1500

=2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

regression-reg

300

25(

200

15(

100

a0c

250

200

150

100

45(

400

a5(

300

250

200

15(

100

400

a5(

300

n I n =
8000 [ —45( 8000 |- - 8000 [ —{a0(
6000 |- —40( 6000 6000 |- —{35(
N N 25 N
4000 —35t 4000 — 4000 — —apr
2000 | - 2000 200 2000
ol o ol
- - 15( -
~2000 |- ~2000 | -2000 |-
. ® n 10€ | ®
4000 [— 4000 |- 4000 [—
~6000 |- ~6000 | 50 ~6000 [~
i a0 i B
-BOO0 -BOOO -BOOO u
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ _II|III|III|III|III|III| ﬂ _III|IIII|IIII|IIII|IIII|I D
50 -40 -30 -20 -10 O 10 20 30 40 40 20 ) 20 40 &0 20 10 ) 10 20
diff_bpmdaYium diff bpmdeX/um diff_ bpmdeY/um
- ! . [hf ] l 2{ l
; = —{asc 5 P
4000 4000 F 4000
- —[=0( - -
3000 — 3000 — —30C aoon
= N - —400
2000 | .. o 2000 |- - 2000 |-
1000 |- 1000 |- 1000 |- 300
- - 200 -
[ u o o
- g B - -
=1000 ;‘ u =1000 ;‘ u 150 = 1000 ;‘ 200
~2000 1 -2000 -2000
- - 100 .
-3000 b -3000 -3000
- 100 - - 1o
N N B0 C
~4000 -4000 -4000
E-DDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II {' _EDDD:Illlllllll|III|III|III| ﬂ _E'DDD:III|IIII|IIII|IIII|IIII|I D
S0 -40 -30 -20 -10 O 10 20 30 40 40 20 ) 20 40 &0 20 10 ) 10 20
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium
diff_ diff_ diff_bpmdeY
- —(7oc - —{45¢ . —goc
2000 & 2000 2000 F
- - —anc -
1500 —&oc 1500 1500 e
- - —{a5( -
1000 1000 £ 1000
~ —=00 ~ -
500 500 —{30( 500
of of P of
500 - 500 m 201 -500
1000 1000 15 1000
-1500 | -1500 | 100 -1500 |
- - C 100
-2000 -2000 i o ~2000
- | | - - . - -
2500 o Lo b b b e e v Lo b 0 =i~ 10 o T N N U T N N U T T N TN T A N A A O A O 0 =20 v v b g g bl a v g g by v a1y o
50 -40 -30 -20 -10 O 10 20 30 40 40 30 ) 20 40 &0 30 10 ) 10 20
diff_bpmda¥ium diff_bpmdaX/um diff_bpmdaY/um
h h . —B0C
2000 - 2000 —{40C 2000 -
- —{&0c - -
1500 | 1500 —{as( 1500 50
- {501 - -
1000 1000 —{anr 1000 |
: : : oot
500 - 400 500 - ae¢ 500 -
o o - o
: 00 : 200 :
- 500 — ~500 ~500
- - 15( -
- 200 L -
~1000 ~1000 | ~1000 |
~1500 [ 100 ~1500 ~1500
N u N N
-2000 F -2000 F -2000 F
[ [ AEEEEEEEE NN NN N N

SaiidA68 Vs diff bom:

1.7

-2{) =10

-~ postpan:png

L
B —400
8000 "
N —a5(
BOOD —
- —{30(
4000 .
000 m 25
N [ |
o 200
~2000 - g " 18
B [ |
~4000 a
- 10€
~6000
N 50
—goo0 u
_II|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
30 =20 =10 0 10 20 30
diff_bpmEfium
l-
4000 —{45(
anoo — —40(
2000 ;— - —{35(
1000 | ot
o H 25(
oo 0 ® 200
~2000 15(
~3000 100
~4000 N 50
—E'DUU :I L1 | L1l 11 I L1 11 | L1l 11 | L1111 I L1111 | L1111 | L1 ﬂ
-0 =20 10 0 10 20 30
difi _bpmEfum
d '
- —B0L
2000
1500 | —50(
1000 |
o —{ 400
500
o ™
_500
1000 -
-1500 |
- 10€
-2000 |
~2s00 b L bbb bl 0
-0 =20 =10 0 10 20 30
diff_bpmEfum
d '
2000
1500 —{50(
1000
n — 400
500
o
- u
-500 —
~1000
~1500 100
-2000
_II|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

-30 20 =10 0 10 20 30
diff _bpmEfum



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

30000 2 | ndf 51.99/ 44
. } p0 2052 £ 34.30
20000 [~ th
p1 -3327 £ 24.5
-ty
10000
of
10000 | i
N HWH
i
30000 |-
_l L1 1 | 1 1 | L1 1 | L1 1 | L1 1 | | I_I | |
6 4 ) 0 2 4 6
iff
gﬂ — —
- w2/ndf  60.21/44
15000 |
x | tt pO 28.7 + 26.1
10000 ﬂ |TH+++++ pt  -2379+18.8
5000
o
-5000 |- )
10000 ﬁh}ﬂwﬂ
- {
15D|:||:|_—|||||||||||||||||||||||_|||
6 4 ) 0 2 4 6

dlthpmélaL

Mﬂ' |

R =0T == N T I T N N T N N O O O A

¥2 [ ndf 53.82 /44
p0 —16.7 £ 15.2
p1 1322 £ 10.8

or
5000 — WH A
10000 — _
6 4 2

1] 2 4 6

diff_bpmdaX

15000

10000

2000

~5000

10000

==
IIIIIIIIIIIIIIIIIIII|IIII|IIII|II

o 2/ndf  91.3/31
: p0  27.54140.33
ﬁ p -203.4 £ 6.0
i
+

15000 IIII|IIII|IIIIIIIIIIIIIIlIIIIlIIII

-50

-40 -30 20 10 O

10 20 30 40

diff_bpmdaY

2 / ndf 78.53 / 31
p0 21.97 + 29.10 :
o1 273.4+4.3 # W
E-DEID:— H*
of
_EDDD:— _ HHT}H-+
10000 [ _W
:I||||||||||IIIIIIIIII||||||||||||||||II|IIII|III
50 40 =30 =20 10 O 10 20 30 40

diff_bpmdaY

%2 / ndf 7633731

p0 -19.73 £ 17.02

pl 126 £ 2.5

oF
~2000

[ Jqﬁlﬁ

400 | H
~6000
_mnn?l|_|||||||||||||||||||||||||||||||

-50

-40 -30 20 10 0

E

10 20 30 40

30000

20000

10000

10000

20000

30000

40000

20000

10000

10000

20000

30000

- 2 | ndf 33.32/ 40
: _RLL“:,, PO -1.579+ 14.494
— A
3 p1 —655.7 + 1.2
- T,
:_ ++++_
1__I | | 1 1 1 | 1 1 1 | 1 1 1 I 1 1 1 | | I_l 1

40 =20 1] 20 40 G0

diff _

- - ¥2 | ndf 34.77 / 40
LY
i T p0 8.302 + 9.875
- o1 ~494.6 +0.9
E tr*ﬂ‘*u,f
N il
1-_I | | 1 1 1 | | I | | | I | I | I | | 11 I_l 1

=40 20 1] 20 40 G

diff_bpmdeX

1/ ndf 28.12/40
PO -5.4 +6.1 {#Jf-
Py
p1 283.1+05 -
of
-5[:'003—
o000 | - -
S
15000 -
PO T T T N N T T Y B
-40 =20 0 20 40 60

diff_bpmdeX

000
¥/ ndf 61.63/44 - { %2/ ndf 72.16/ 31 %2/ ndf 36.02 / 40
4000 - _
p0  —11.72 + 10.31 +th { - MWHM PO -6.969+ 11.285 p0  -2.723 + 4584
p1 961.3+74 2000 ¢ p1 1296+ 17 p1 192.4 + 0.4
0 ~ ﬂ:_ :
[ - =
-2000 ~2000 - [
_ ! + { -
e | ik |
~4000 - W ]ul 4000 — * ~5000 #
i i i e
6000 = ~6000 |- i - #{Hh
I 10000 -
—l 1 1 1 | 11 1 | 1 1 | 11 1 | 1 1 1 | 1 1 1 | | _E.DDD n i
50

run3921 000 regressmn asvim

Py 4W

sam

vs diff bpm-fit

ditf_bpmdeY

12 [ ndf 117.8/ 34
15000 F - .
B ) p0 30.97 + 40.61
10000 |
- w p1 -260.1+10.2
5000 H |
- Fagk
ok M {
- } ll -
-5000 | ft
mnnnz— i } }
: i
15000
20000 — i
1 1 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-20 10 0 10 20

diff_bpmdeY

¥2/ndf 955334

p0 23.54 £ 28.68

p1 520 + 7.2

5000

10000 [

-
i%

J'

f
HJ‘,rhr{h[ h
}

20 10 0 10 20
12 / ndf '|DT 8/34
p0 —-19.4 +17.2 +

.I.
| /N
o -
~2000 — + ‘WH b

p1 179.2 + 4.3 X
2000 :— H{m. }

- 4000
6000
—Bo0O | - - %
N N NN
20 10 0 10 20
diff _bpmdeY
6000 [~
J E { ndf 88.81/ 34
“”“”:' - w pO 8.3+ 11.1
" #
S ﬁ p1 —2396+28
of
_2000 H++
Z *#HH\ i
~4000 |- ]LM
~6000 — H i,
=1 1 1 I I 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 11 1 | 1 1

_posfpan.png

diff _bpmE

IE ! ndf 46 .67/ 32
F}U 17.89 + 35 48
|D1 /37.9+64
of
10000 :— _{ Hi’hﬁh-*
S
20000 :—

diff _bpmE

30 =20 -10

1]

¥2/ndf 5379732 *

p0 15.46 + 25.93 ﬁﬂw -

o1 587.8 + 4.7 )
of

—EI}EIEI;— - | 4

mnnni— - Nﬁﬁ{ﬁ

15nnnf—

T T A e

5000

~5000

10000

10

20 30

diff

6000

4000

2000

= 2000

~4000

~6000

=30 =2 =10 (1] 10 20 ah
diff _bpmE
10000 — i—
- ) %2 / ndf 43.1 /32
L “F p0 -14.59 + 15.05
— 1
T
-] t pi ~330.3 £ 2.7
: +m
Tl v bvsvabvraa b s b g e
=30 =210 =10 1] 10 20 a0
:_ ) %2 / ndf 55.07 / 32
- { | pO -5.064 £ 10.441
[ Mﬂﬁ p1 2263+ 1.9
- 1
: 1
ool lsr o by bos v oo baa o b
-30 - 10 0 10 20 a0




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3921 000 regression reg

%

3000

2000

1000

=1000

=2000

diff_bpm4aX

2500

2000

1500

1000

500

~500

=1000

bpm4aX

%2/ ndf

92.75/ 44
p0 2.806 = 10.676

p1 -11.55 £ 7.96

-6 ~4 -2 1] 2 4 6

y2/ndf  4537/44
p0 1.294 + 5.209
p1 -3.1+3.9

| i
| INWMIIII}I H

-6 -4 -2 0 2 4 [

diff_bpm4aX

%2 / ndf 41.99 /44
p0 -89.085 + 2.308
o1 2444 + 1742
: III o i
o IIIIIIIII%WJF ﬁ
—Eﬁﬂz‘
=1000 }
ol T T T T T T N A N A ||_I !
-G = -2 1] 2 4 [

diff_bpm4aX

p0

pl

7= [ ndf

5919/ 44
—-0.2045 £ 2.0501 t

1.657 £1.537 IIIII

=)

~400

- 600

- 800

=1000

=1200

—IIIIIIIIIII

diff_bpmdaY

%2 / ndf 43.04 / 31

p0 5.925 + 10.752

p1 1.544 + 1.557
2000 I

u_— I} {lI]I]d}Iﬂpwﬁ IIIIIII{I
—E{IDD_— I

[ - t

_WDD—I-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

50 -40 -30 <20 <10 0O

10 20 30 40

diff_bpmdaY

%2 / ndf 34.41 [ 31

po 5.05 £ 5.25 l

p1 0.5019 + 0.7584 |
o I

oF - IIIIIIIIMI,IIII |
sof II
=1000 é— h _
—15003—
—E-I}EIUEr|||I||||I||||I||||I||||I||||I||||I||||I|II||I|||

50 -40 -30 -20 -10 0

diff_bpmdaY

800

600

400

200

=200

=400

=600

- 800

-50 -40 -30 20 -10 0O

91.

600

400

200

=200

- 400

=600

10 20 30 40

) ¥® { ndf 17.597 131
) pO —B.948 + 2.328
p1 —0.08791 + 0.34087

IIMIIIW“IIHIIWIIII

10 20 30 40

iff bpmdaY

x= [ ndf 29.24 | 31
{ p0 -0.761 = 2.068
p —0.1903 = 0.2992

| [

II

I

IIIIIMII

sam

di

g

diff_bpmdeY

i %2/ ndf 39.98 / 40 ¥2 / ndi 45.63 /34
1000 - | p0 4.225 + 10.661 p0 6.985 + 10.740
! III pl  —0.5823 + 0.9098 p1 1314 2.63
L] __ | * ‘I_WH%W_} T II-I ||‘ - —
[ I 1000 - { '
~1000 |- I o . MIINII'HIHHH - _EI|||I IIII LT
: 1000 } '
2000 |- n -
- ] 2000 |
ol - | ol
1 | I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 (111 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1
40 -20 0 20 40 60 -20 10 0 10 20
iff_bpmdeX iff_bpmdeY
1000 2000 |-
i ¥ | ndf 35.06 / 40 - - ¥2 { ndf 49.82 / 34
[ 1500 [~
co0 - p0 3.328 + 5.209 - - po 4.253 + 5,045
I I* pl  —0.05634 + 0.44349 1000 = pl  —0.007684 + 1.282730
[ | I N
o HII]III+IIIIII gt o IIIII HH 500 |_I
i ) a | At I
500 — ﬂ; J II IIIII‘I\ ]
[ - 500 |
~1000 |- )
- ~1000 | 7 i
A || I L1 1 I L1 1 I | I | I 11 1 I L1 1 I 1 - :—I | I L1 1 1 I L1 11 I L1 1 1 I L1 1 1 I ||
~1500 40 -20 0 20 40 60 1500 20 10 0 10 20
diff_bpmdeX (janthmélcY
PO _B.751+ 2.309 1000 L p0 _8.843 +2.324
1000 -
i pl  —0.01864 + 0.19937 i p1 -0.4838 + 0.5746
S0 500 [~ ﬂ
0 o Ifr%-#wﬂwnq'#r#ﬂ-l IIII ) B } II
: IIIIII ;HII of '[Ih 4 M
_500 - I I
: B ~500
'IQDD'Tu (AN NN N T T N T T T T N N T T M A A NI N A A N A A A A AN AR A I_||
40 -20 0 20 40 60 20 10 0 10 20
diff bpm4eX  diff_bpmdeY
72 ndf 31.69 /40 . 72 ndf 49.81 /34
EﬂD:‘
p0 -0.3818 £ 2.0492 . p0 -0.9472 = 2.0651
- 4ﬂD:-
pl 0107101763 \ ][ . p1 -0.2077 £ 0.5068
O el -
N III = I III :
=200 _— : = ‘“kI + + +
i 200 |
~400 [~ i -
- ~400 [~ )
~600 - I f
i ~600 [~
L 1 I -_I 1 1 I- 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1
40 20 =10

dlff

“bpm-fit’ post

pan.png

diff_bpmkE

S000

4000

3000

2000

1000

o

= 1000

= 2000

=3000

HTTTTTTTTTT TTTTTTTTTTTTTTTTTTIITIOITT TTTTTTTTT
I I I I I I I I I I

=4000

%2/ ndf 27.66 / 32

p0 4.523 £ 10.654

p1 -1.173+£1.919

I|III IIIHWFIHIII

N

U

diff _bpmE

_30

20 =10

1]

10 20 30

%2 | ndf 22,31/ 32
p0 3.197 + 5.222 I
p1 0.4193 + 0.9354 ]
500 _
I]__ -| + I-I-I N |
~500 2 II
: I 1
o0 T -
~1500 [~
E L1 I L1111 I L1 11 I L1111 I L1 11 I L1111 I L1 11 I L1
=30 20 =10 1] 10 20 an

diff bpmE

12 / ndf
p0

pi

21.35/32

-8.375 £ 2.316

0.2088 = 0.4209

[y gy

o

- 200

- 400

- 600

~800

i | I| IkIIIiIIII MI

il

diff_bpmkE

400

200

-200

-400

- 600

~800

=1000

—lIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-30

=20 =10

o

10 20 a0

¥2 { ndf 17.55 /732
pO —0.00566 + 2.00688

p1 —0.1059 + 0.3679

fi-

i

=30

20 =10

1]

10 20 30




asym_sam

asym_sam

asym_sam

asym_sam

run3921 000 regression-asvm

40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

40 <30 20 10 0 10 20 30 40
diff_bpmda/um

- I -
30000 : 30000
20000 20000
10000 10000
oF oF
10000 10000 |
20000 20000
30000 '- 30000
40000 | 40000
- I 1 1 1 | 11 1 | 1 1 1 | | | | 1 1 1 | 1 1 1 | il
i 4 -2 0 2 4 B -50)
difi_bpm4ax/um
.
| I |
20000 |- 20000 |-
10000 |- 10000
of- of-
10000 |- 10000
20000 |- 20000 |-
30000 | 30000 |-
i I 11 1 | L1 1 | 11 1 | | I | | | I | | 11 1 | _I
B 4 -2 0 2 4 B 50
diff_bpm4aX/um
. *
15000 15000 [
10000 | 10000
5000 F 5000
0 0
5000 . ~5000 |-
10000 - 10000 [~
15000 15000 [~
A T T T T N T T N N T A O O OO O ()
i 4 -2 0 2 4 B 50
difi_bpmdaum
.
| I |
10000 |~ 10000 —
5000 5000
o o
5000 5000
10000 10000 -
i I 1 1 1 | 11 1 | 1 1 | | | | 1 1 1 | 1 1 1 | 1

40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

-o0

20000

10000

10000

20000

30000

40000

diff_bpmdeX/um

20000 —

10000 =

10000 =

20000 —

30000

diff_bpmdaX/um

15000

10000

5000

=5000

10000

15000

diff _bpmdeX/um

iff_bpmd4eX

10000

5000 =

=5000

10000 =

sam2468° vs diff bpm=s

m=scat

30000

20000

10000

10000

20000

30000

40000

20000

10000

10000

20000

30000

15000

10000

5000

= 5000

10000

15000

10000

5000

=5000

10000

20 10 0 10 20
diff_bom4eY/um

=20 =10 1] 10 20
diff_bpmday/um

20 10 0 10 20
diff_bpmdaY/um

—Eﬂ

_postpan" Ppne

30000

20000

10000

10000

20000

30000

40000

20000

10000

10000

20000

30000

diff_bpmkE

15000

10000

5000

=5000

10000

15000

10000

5000

=5000

10000

=30 =20 =10 0 10 20 30
diff_bpmEfium

-30 -20 =10 0 10 20 an
difi _bpmEfum

-30 -20 =10 0 10 20 30
diff_bpmEfum

-30 20 =10 0 10 20 30
diff _bpmEfum




000 — 8OO0 E— 8000 E— 8000 — 8OO0 E—
OO0 — OO0 f— OO0 f— OO0 — OO0 f—
4000 — 4000 f— 4000 f— 4000 — 4000 f—
2000 — 2000 E— 2000 E— 2000 — 2000 E—
oF of oF of of
reg_asym_sam : : | : :
—_— — -2000 | -2000 - -2000 |- ~2000 [ -2000
~4000 | ~4000 |- ~4000 | ~4000 | ~4000 |-
~6000 — ~6000 f— ~6000 E— ~6000 — ~6000 f—
~8000 2 T -mnn:— B -EH}DD:— o -aunn:— IR -aﬂnn:—
_II||||||||||||||||||||||| _||||||||||||||||||||||||||||||||||||||||||||I|| _||||||||||||||||||||||| _II||||||||||||||||||||||| _||||||||||||||||||||||||||||||||||||
s 4 2 0 2 4 B 50 -40 -30 -20 -10 O 10 20 30 40 40 -20 o 20 40 60 20 10 0 10 20 30 -20 -0 © 10 20 30
difi_bpm4aXium diff_bpmda¥ium difi_bpm4eXium difi_bpm4e¥ium difi_bpmEium
. . ! . ff . .
- — u — u - — u f—
4000 - 4000 |- 4000 - ano0 |- .. 4000 |-
3000 - 3000 |- 3000 - 3000 |- 3000 |-
2000 — 2000 i— 2000 i— 2000 — 2000 i—
1000 E— 1000 E— 1000 E— 1000 E— 1000 E—
reg asym Sam “1000 |- 1000 1000 - 1000 |- “1000 |-
_2000 |- _2000 _s000 F _2000 |- _s000 |-
_3000 [ _a000 |- _a000 & _a000 _a000 |- :
_4000 [ _4000 |- _ap00 [ _ap00 | _4000 |- :
D B T . somfpfpsfpfponfpbiosontol b ] b st
diff_bpm4aX/um diff_bpmdaYium diff_bpm4eX/um diff_bpm4aYium diff_bpmEium
. . . [lf . ff . ff
2000 - 2000 |- ‘ 2000 - 2000 |- 2000 |-
1500 |- 1500 - : 1500 |- 1500 |- 1500 |-
1000 - 1000 & 1000 [ 1000 1000
s00 500 00 s00f s00 -
reg asym Sam 500 - 500 - 500 F _so0 |- 50|
— — N = = N =
-1000 £ ~1000 £ -1000 £ 1000 - ~1000 £
1500 |- _ = 1500 © 1500 - 1500 |- 1500 &
_2000 |- ; _2000 _2000 - _2000 |- " _2000 |-
-EEDU:—||||||||||||||||||||||||| -EEDUErn||||||||||||||||||.||||||I|||||||||||||||||||| —EEDD:—|||||||||||.|I||||||||||| -EEDU:—||||||||||||I|||I|||||||||| —EEDUEr il Ll i ANEENI NEENE NN NN
s 4 2 0 2 4 B 50 -40 -30 -20 -10 © 10 20 30 40 40 -20 0 20 40 B0 20 10 0 10 20 30 -20 -0 © 10 20 30
difi_bpmdaXium diff_bpmdaYium difi_bpmdeXium difi_bpmdeYium difi_bpmEium
2000 2000 2000 2000 |- 2000
1500 — 1500 f— 1500 f— 1500 — 1500 f—
1000 — 1000 E— 1000 E— 1000 — 1000 E—
500 — 500 f— 500 f— 500 — 500 f—
of of of of of
reg_asym_sam ol wf wf wf ol
1000 — ~1000 f— -1000 f— 1000 — 1000 f—
1500 - N 1500 F ] 1500 AT PR 1500 1500 [ :
'Emn:_...l...l.. I...I...I...I -zann:—l -2000 -zunn:— I....I....I....I. -:mnn:—ll T Y

run3921 000 regression-reg sam2468-vs diff ‘bpm-scat postpan.png L



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run3921 000 regression-asym

diff _

diff _

diff _

| — | — | | L
8000 - i BOOO [ - nor - 8000 - BOOO - o
[ n | [ o8 [ l. u [ —18¢ [
go00 [P0t B000 —(20c go0o go00 Bo00
- - - —[20C - —{16( - —{60L
B B —{18C B B B
4000 4000 4000 4000 —yar 4000
[ o[ - |18t - [ - 50
_ . . —lang C .
2000 — 2000 [~ —{14r 2000 [~ u 2000 [~ —12( 2000 —
i i 150 i i i
o o (1] o - 30C oF 100 o
B i i B C
2000 2000 2000 _2000 2000
B i i 200 B i
~4000 |- ~4000 ~4000 |- ~4000 [ ~4000 [
B B B 100 B B
~6000 [~ * ~6000 [~ ~6000 [~ ~6000 |- ~6000 [~ 100
- m om 5 | 5 E - [ m
-IIII|III|III|III|III|III| _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _II|III|III|III|III|III| -III|IIII|IIII|IIII|IIII|I _III|IIII|IIII|IIII|IIII|IIII|IIII|II
-5000 -6 -4 -2 0 2 4 6 o 'mm&n 40 =30 =20 10 O 10 20 30 40 o ~5000 -40 -20 0 20 40 60 0 -5000 -20 -10 0 10 20 ~5000 30 =20 =10 0 10 20 30 0
diff_bpmdaX/um diff_bpmdaYium diff bpmdeX/um diff_ bpmdeY/um diff_bpmEium
—40( o
40000 40000 40000 —{30c 40000 40000
= = = _-S'DI: =
i —a5¢ I —|60C I i I
I I I —25( I I P
20000 - 20000 e 20000 20000 20000
5 = = 5 —A00 =
i i i _ i i —40(
i g I | 200 i I
= ok = ok ok
- 208 - - 15( - - u
20000 150 20000 20000 20000 20000
B B B 100 B B 200
i 100 I I i I
40000 40000 40000 40000 40000 |
N i 100 i 500 B i 100
50
- n - n - n - n - n
E‘.DDDD_IIII|III|III|III|III|III| D E.DDDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II {' EDDDD_II|III|III|III|III|III| ﬂ E.DDDD_III|IIII|IIII|IIII|IIII|I D E.Dnnn_llllllllllllI|IIII|IIII|IIII|IIII|II ﬂ
5 4 -2 ) 2 4 5 S0 -40 -30 -20 -10 O 10 20 30 40 40 20 ) 20 40 &0 20 10 ) 10 20 a0 =20 <10 0 10 20 a0
diff bpmdaX/um diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium diff_bpmEium
| | —EE': | I | I —EE[ | |
. _ _ . _ —{70c
BOO0 — —50C 6000 — G000 — G000 — —{=2nr 6000 -
= - - —E.Dr_' = -
- - - - —{18( - —(60L
4000 4000 —200 4000 4000 4000 —
- —|40C - - - —{16¢ -
- - - —lanr - - —{50¢
2000 - 2000 3000 - 2000 2000
N C - C —1ac C -
i - —{15¢ - i -
B B B B - H
0 o= 0 - i 0 12 b= |
I 5 5 I 10¢ 5
2000 [~ 2000 [~ 100 ~2000 - ® ~2000 [~ ~2000 [~
i i i 201 i 80( i
~4000 ~4000 ~4000 ~4000 B0 ~4000
5 R SO R 5 R
- - - 100 - 400 - i
~6000 [~ ~6000 [~ ~6000 [~ ~6000 [ ~6000 100
. m m L mm . - . mm 200 . m m
--E-DDU-I'"|"'|"'|"'|"'|"'| o -B-DDD_'”'l""l""l”"l""l””l””l””l””lll 0 —EDDD-"l"'Illllllllllllllll 0 _mun_ll||||||||||||||||||||||| o —Bﬂﬂﬂ-"'l""l""l”"l""l""l""l" 0
-6 4 3 0 3 4 6 50 -40 -30 -20 -10 O 10 20 30 40 40 30 ) 20 40 &0 30 10 ) 10 20 a0 20 <10 0 10 20 a0
diff_bpmdaX/um diff_bpmda¥ium diff_bpmdaX/um diff_bpmdaY/um diff_bpmEium
diff _ diff _ diff_ bpmdeX = diff _bpmdeY diff _bpmE
| I _4{:'[ | I | I | I | I
| | | | |
- - - - - —{&0r
10000 10000 | —go 10000 10000 |- u n 10000 |
= —{35( = = —35( = S0 =
. . . . . —{50c
_ —{ 300 - —500 - L N
5000 - 5000 5000 —2n0 5000 - —|40( 5000
i —25¢ s i . = —{40(
i s s i . u
- - - - 3{}[ -
ok ok = 15( ok ok
[ | | 10( i 200 i
-5000 ~5000 ~5000 ~5000 ~5000
. 100 . . . .
i | | 50C i 10( |
- 5'} - - - -
10000 — M 10000 10000 10000 n 10000 n
i II|III|II |III|III|III| i III|IIII|IIII|IIII|IIII|IIII|IIII|II

Sam1357:vs diff Boimise

OLZ postpan.png

-30 20 =10 0 10 20 30
diff _bpmEfum



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3g921 000

N —400
1500 |
- —|35¢
1000 |
500
of
~500 -
- =
~1000
~1500 |
N m
B I 1 1 1 | 11 1 | 1 1 1 | | | | 1 1 1 | 1 1 1 |
~2000 "¢ -4 -2 0 2 4 B 0
difi_bpm4ax/um
diff _
- — —45¢
3000 |- .
2000 —{a5¢
1000 [ — 300
- 25(
0
20(
1000 |-
- 15¢
2000 |
N 10
-3000 - -
g | | | Lo |
11 1 L1 1 11 1 | I | | I | 11 1
~4000 "¢ 4 -2 0 2 4 g 0

diff_bpmdaxsum

diff

—45(
1500 |- N
- —140(
1000 — g
500 - —{an
i 25(
o
i 200
B 18(
~1000 | 100
B [ ] [ ]
~1500 " N 50
I T T O O I O I I N B B N A B B A o
-6 =i -2 (1] 2 4 G

diff_bpmdaX/um

diff

1500 —1=0(

1000

500
i - 300
0
20
500 ™
100
1000 gn

1500

1000

500

- 500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIII

100

!
—EﬂDDEﬂ

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

— 700

100

III|IIII|IIII|IIII|IIII.|IIII|IIII|IIII|IIII|II 0

!
4ﬁD05ﬂ

d'
1500

1000

500

=500
=1000

=1500

=
IIIIIIIIIIIIIIIII|IIII|IIII|IIII|III

40 <30 20 10 0 10 20 30 40

diff_bpmda/um

— 700

perlvvr berrr b b bvena brvnr beraa bvra b 0

g

91.

1EDD

1000

500

=500

=1000

40 -30 -20 -10 0 10 20 30 40
diff_bpmda¥ium

— 700

-o0

regressmn—mreg_sa”ﬁ*i'13'575""4'5% di

1500 —|40t
- —as(
1000 |
- —a0r
EDD:'
- 35(
o
- 200
_500
- 150
~1000
- 100
~1500 0
—E‘DDD B | 1 1 I L1 1 | 1 1 | L1 1 | L1 1 | ﬂ
40 _20 ) 20 40 &0
difi_bpmdaX/um
l-
2000 C —asr
- —lanc
2000
- —ag(
= u 25(
N 20(
1000
E 15(
~2000 |
: 100
~3000 - 50
: | L1 1 I L1 | | L1 | .l | | | | | | | |
-4000 _4D0 _20 ) 20 40 50 0
difi_bpmdaX/um
d .
- —asr
1500
- —lanc
1000 |- —as(
00 - —a0(
- 35(
o
- 200
500
C m 150
1000 | 100
1500 | 20
B | T N W A T N A T M A A I I O A B B 0
_40 _230 ) 30 40 &0
difi_bpmdaX/um
I
1500 |- - -
1000
- —anc
500
. 30(
ﬂ L
i n
. 200
~500
- 100
-1000

ff “bpm-

1.7

1500

1000

500

=500

= 1000

= 1500

= 2000

3000

2000

1000

=1000

= 2000

=3000

=4000

20 10 0 10 20
diff_bom4eY/um

91

1500

1000

500

~500

= 1000

=1500

=20 =10 1] 10 20
diff_bpmday/um

hpmélcY

diff

1500

1000

500

-500

= 1000

20 10 0 10 20
diff_bpmdaY/um

_hpméleY

- POS

-2{) =10

G600

S0C

400

30C

200

100

600

500

600

500

400

300

200

100

700

600

500

tpan:png

1500

1000

500

-500

=1000

=1500

=
IIII|IIIIIIIIIIIIIIIIIIIIIIIIIIIII|IIII
|

III|IIII|IIII|IIII|IIII|IIII|IIII|II
=2000 30 =20 =10 0 10 20 30 0

diff_bpmEfium
diff _

| —
3000 F N
2000 —{501
1000 .
- W
of
N anc
1000
- 201
~2000
3000 |- 100
: | L | | | |
L1l L1l 11 L1 11 L1l 11 L1111 L1111 L1111 L1
“4000 T a0 10 o 10 20 a0 0
difi _bpmEfum
d'
E —lgor
1500 |-
n —{50c
1000 [~
B |
500 i
C [ |
o u a0¢
B [
~500
- 200
1000 |-
- 100
~1500 |- Ll
Cro ol bbb oo b oo b 0
a0 20 <10 0 10 20 a0
diff_bpmEfum
d.
1500
i —600
[ n
1000 "
- —{50¢
500 — n
i n
oF™ =
i m
- |
~500
~1000 = 10¢
- n
III|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

-30 20 =10 0 10 20 30
diff _bpmEfum



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

run3921 000 regression asvm

diff_bpmdaX

=

diff_bpmdeX

%2/ ndf 46.23 / 44 - - x2 / ndf 63.88 / 31 %2/ ndf 33.47 /40
6000 —
p0 -0.9871+ 6.9536 [ Ty, p0 4.077 +1.924 p0 -0.3406 £ 6.9451
- .
4000 % b
p1 2.671+ 5.265 i p1 -183.2+0.3 p1 2.024 + 0.603 . ”N}
ol ‘ } } 2000 ¥ - F LI'T[|’F {_
! ; H ’ o ~1000 |
1B iicamacall 5 : |
so0 b - -2000 :_ ~2000 -
- _4000 k N
1000 |- I ﬁ*qu ~3000 [~
: ~6000 [~ i :
_1EDD_|III|III|III|III|III|II-I|I :IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|ITII_|III _mDDJ-_I_IlllllIII|III|III|III|I
-G -4 -2 0 2 4 6 50 -40 <30 <20 <10 O 10 20 30 40 -40 =20 0 20 40 60
diff _bpm4aX diff bpmd4aY  diff_
- y2/ndf  61.02/44 ¥ / ndf 71.93/ 31 40000 -~ ¥2/ndf  54.65/40
30000 [~ i Y
Z \J pO 43.65 t 42.82 pO 38.43 £ 51.48 - N pO 6.116 £ 3.762
- ) 20000
20000 - ﬁjﬂrﬂ# p1 -4219+30.4 p1 79.85 + 7.62 i p1 —876.8 +0.3
- byt _ I
10000 |- i - o
- 000 — Wut B
oF - H +Mﬁ | I
- o Jﬂf H 20000 |- )
10000 [ ) B M + T . =,
- +H B - | -
X LT ~5000 |~ B ,
20000 |- HHN * - 40000 |
:lIII|III|III|III|III|III|I 1[:'[:'00_I_III|IIII|IIIIIIIIIIIIII|IIII|IIII|IIII|IIII|III ;II|III|III|III|III|III_|I
-G -4 -2 0 2 4 6 50 40 =30 20 10 O 10 20 30 40 -40 =20 0 20 40 60
diff bpmd4aX dethmAaL diff _bpmdeX
¥2 / ndf 50.4 /44 ¥2 / ndf 43.85/ 31 L %2 / ndf 31.04 / 40
#- [
p0 2.339 + 6.549 i p0 -1.878 £ 1.661 & 3000 - p0 2.137 + 6.541
p1 11.74 + 4.96 pi 173.9+0.2 sooo | p1  -1.393 % 0.567
B 1+ } } HH} ) i i
°F | MHFH ZACAREME H N - o 1000 [
500 } ~2000 |- E H“H
C : i 0 } #H-}MW"
~1000 | ~4000 [ < A ﬂ t )
- - @ i
i e ~1000 [
~1500 | ~6000 — - Z )
Flvv v b b b b b L :|||_||_||||||||||||||||||||||||||||||||||||||||||| —EDDD;|_|||||||||||||||||||||||
-6 -4 -2 0 2 4 6 =50 40 =30 20 10 O 10 20 30 40 -40 =20 0 20 40 B0
dlthpmélaL diff _"bpmdaY diff_bpmdeX
y2/ndf  56.06/ 44 + 2000 | %2 / ndf 7717/ 31 %2 / ndf 59.11/ 40
pO 11.06 + 9.71 «*T*J}L'H : 0 -10.65 + 11.86 0 .
—11. T . -|+ ) 1000 p = | U T . p -2.975 £1.229 +h+
pi 1005 + 6.9 £ | H‘}W p1 -15.73 £ 1.76 p1 201.4 + 0.1
T '
: 1000 - - !
-2000 |- - ok
~a000 | - ﬂ i}rbr’“t” 2000 I
- f - I
~B00n0 :_ h + 3000 :_ - =5000 __ :‘-:..
-8000 [ i e
- ~4000 - 10000 _—
|III|III|II |III|III|III|I u Ml I|IIII|IIII|IIII|II

“sam1357 vs diff bpm-Fit

sam

- post

dif_bpmdeY

[ Ef ndf 182.8/ 34
6000 |- )
E Jrjfuh p0 4.038 £ 2.299
4000 [ +**++#
i -, o1 ~306.2 +0.6
2000 —
o
~2000 |
_4000 |- e
B 4
i e
~6000 [ Ft{L
: L1 1 I | I | | | I I | | | I | | L1 1 1 |_| 1
20 10 0 10 20

diff_bpmdeY

¥2/ndf  96.97/34

p0 39.98 £ 51.32

p1 231.2+129
5000 | } _
L .|. _I_
: ﬂﬂ
HH ™|
E N [HU t
5000 |
10000 — {
15000 —
:IIIIIIIIlIIIIlIIIIlIIII_lll
20 10 0 10 20
%2 / ndf 139 3/34 ’r
++
p0  —1.903 +1.938 P
o1 202.2 + 0.5 ‘
of
- 2000 —
_4p00 J'f
-
~6000 |- -7
:|_|||||||||||||||||||||||||
20 10 0 10 20

9-.

iff _ bpmdeY

: x2/ndf  100.9/34
3000

; * p0 -11.16 £ 11.83
2000
1000 - k [W p1 -50.23 + 2.97

S H} ’r% T

of H | ‘

: { +MJ%-
-1000 }
-Ei}DDE— _ "5
-:mnnf— )
-mnnf—

:I 1 | 11 1 1 | 11 1 1 | L1 1 1 | L1 1 1 | 11

10

pan.png

diff_bpmE

%2/ ndf
2000
p0
1000 p1

44.96 / 32

3.202 + 6.972

-8.318 £ 1.252

=1000

D_ - ‘|
=2000 —
11

30 =20 -10 1] 10

20 30

diff _bpmE
¥2/ndf  48.17/32

p0 24.87 £ 42.84

p1 1026 = 7.7

10000

20000

30000

= L L N L L B L
1
R —
—_—
—_—

M“ +_

30 =20 -10 1] 10

diff bpmE

20 30

2 1 ndf 47.41 /32
p0 -0.9012 £ 6.5644
o1 9.743 + 1.179 *
of A‘NMHW -
-5[:05—
-mnnf—
—15UU3—
-Eﬂﬂﬂf—
oo bvra bvva bevva e bvraa b aa b

|

30 -20 -10 O 10 20 30
Z %2/ ndf 49.21/32
BO00
Z ) + p0 -7.436 £ 9.910
4000 - _
- { +|J{h++ pi -233.8 + 1.8
2000 :— ) {
o
2000 :— t«‘ -
=400 N H1-|-|'|_| +
6000 |-
_I 11 | 1 111 | 1111 | 1111 I 1111 | 1 111 | 1111 | 11
30 -20 -10 O 10 20 a0




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3921 000 regression reg

diff_bpmd4aX

S ¥2/ndf  42.07/44
B00 —
400 :_ p0 3.924 +1.877
of p1 ~1.14 +1.42
i j
[ 1
[ ettt &
of | }HM}H'““ et
200 [ } }_
a00f
-600 |-
"E'E'D_—| |_ (A T T T T T N T AT O A
=6 -4 =2 0 2 4

diff

_bpm4aX

1500 |~ x2indf  56.61/44
1000 [ p0 6.68 + 3.39
- p1  -9.147 + 2,557
500 — ﬂ}l
= } } m*#ﬁﬁﬁ%wwpﬂﬂ* M )
iy
=500 ~ {
=1000 :—
:l | I | | | I .| | | I | | | I | | | I | | | I | | |
-G =i -2 1] 2 4

diff_bpm4aX

—t—
e 1

¥/ ndf 51.19/ 44

p0 —-2.313 £ 1.601

p1 1.577 £1.201

a0 -

E{mf— ||
of } MW&M

—E{}Df—

-mnf—
NI AT AT AT AT AT I AT AR O
-6 -4 -2 0 2

¥2/ndf 645744
p0 -2.872 £+ 1.180
p1 2.444 + 0.893
oF “Imﬁ%ﬁﬁﬁm'Wf
-‘H}Df—
-F_H}Df—
-:mnf—
-mnf—
_|...|...|..

Mf

_bpmdaX

diff_bpmdaY

%2 / ndf 46.31 / 31

po 3.85 + 1.89

p1 0.1734 £ 0.2757 )

—EﬂlDf— { |

-:mnf—

-E-EIDE— |

_auni..'.|....|....l....|....|....|....|....|....|...
=00 =40 =30 =20 =10 0 10 20 30 40

diff_bpmdaY

diff_bpmdeX

B ¥ | ndf 26.87 / 31
1000 [
. p0 5.972 + 3.422
seof
. { * p1  —0.04708 + 0.49922
- +||I|***v*--~***~ﬁ'm*
o - “ A I }
seof }
~1000 [
1500 |
||||||||||||||I|||||||||||||||||||||||||||||||||
50 -40 -30 -20 -10 © 10 20 30 40

diff_bpmdaY

}:2 { naf 422/ 3

pO -1.595+ 1.616

p1 0.02853 + 0.23549 }
ﬂ__ ‘ Hw-ll |||||+| L N ST &#H-}\-H’ )
[ i

=200 —

=400 —

—E'DD-—
oo lvr i bvves b brva b b v bevna o
50 40 =3a0 =20 10 0O 10 20 30 40

91.

400

200

=200

=400

- 600

I

iff bpmdaY

o]

¥ | ndf ard7 40
pO J.884 + 1.880
p1 0.02334 + 016058
-mnf— ) }
~200 f— |
~300 E—
~400 E— )

-

di

1500

1000

500

- 500

s HA |

~40 =20 0

g

20 40 60

i 12 ! ndf 38.5/ 40
p0 5.972 + 3.374
- P -0.3582 £ 0.2983
|_ | _| | 1 1 1 | 1 1 1 | 1 1 1 I L1 1 | 1 1 1 | 1

-40 =20 0 20 40 60

diff_bpmdeX

x= [ ndf 27.25 1 31
p0 -3.291= 1.1
pl —0.1465 £ 0.1739

%2 | ndf 25.67 / 40
p0 -1.693 + 1.606
p1 0.1201+ 0.1366

ol
=200 _—
=400 _—
=B00 _—

}_H"Wm#wwwww

-4l =20 0

20 40 60

diff_bpmdeX

'|

I|||||||||||IIII|IIII|III

sam

57 vs di

¥2 | ndf 57.22 /40
p0 ~-2939 + 1.163
p1 0.1637 + 0.1051
200 _—

o
=200 :—
400 -

T
=

ff ‘bpm-fit post

diff_bpmdeY

%2 [ ndf

p0

p1

57.03 7 34

3.993 + 1.888

0.2843 = 0.4644

- 200

- 400

- 600

-800

=20 =10

0

10 20

diff_bpmdeY

p0

p1

¥ [ ndf

30.27 [ 34

5.904 = 3.414

0.0794 = 0.8439

-500

= 1000

=1500

= 2000

- 2500

=3000

di

600

400

200

=200

=400

-600

9-.

400

200

- 200

- 400

|

E

=20 =10

L NN BN BELEL L LN B L B
=

0

¥ | ndf
p0

p1

10 20

%

600

400

200

- 200

-400

- 600

~800

diff _bpmE

bpmkE

_ T %2/ ndf 54.49 | 32
_ 00 4568 + 1.882
_ pl  —0.3527 + 0.3390
:...'.|_....|....|....|....|....|....|..

=30 =21 =10 0 10 20 a0

5326/ 34

—1.584 £ 1.612

-0.06331+ 0.39/19

}m :]Lﬂﬂilﬁ*mﬂw;“ﬂ%# ,ﬁ

N\

=20 =10

.

0

iff _bpmdeY

10 20

1= ndf 441 / 34
po -3.3531x£1.189
pi —-0.2082 = 0.2950

P Hﬂl |

1

-20) =10

pan.png

Efr'll::ll‘ 223232
pO 6.257 + 3.404
p1 0.6042 + 0.6187
- ||}w |'
200 ‘
~200 } }‘
400 { *
600 |
800 |
;III|IIII|IIII|IIII|IIII|IIII|IIII|II
30 -20 10 0 10 20 30
Efndf SEGSISE
p0 -1.92 + 1.61
pi 0.2715 £ 0.2883 )
200 |- ‘
o '_ *M{h{}#ﬁﬁwﬁﬂm | 8
_sp0 {
T||||||||||||||||||||||||||||||||||_||
30 -20 -10 0 10 20 30
diff _bpmE
‘3{2 { nat 12.9/ 32
pO 3102+ 1.181
p1 0.09192 £ 0.21587
100 -
B
100 | il } J
~200 |
_aon - -
IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlII
30 -20 -10 O 10 20 30




8000 [~ BOOO [~ 8000 |- 8000 [~
6000 [ 6000 [ 6000 [ 6000 [
4000 [ 4000 [ 4000 |- 4000 [
2000 [ 2000 - 2000 [ 2000 [
op of op of
EIS) _S El -2000 |- ~2000 [ ~2000 |- ~2000 |-
~4000 |- ~4000 ~4000 |- ~4000 [
-6000 |- ' . ~6000 s ~6000 - ~6000 [
-Illll II|II |III|III|III| IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II B | I |III|III| -III|IIII|IIII|IIII|IIII|I
-5000 -6 -4 -2 0 2 4 6 'mm&n 40 =30 =20 10 O 10 20 30 40 ~5000 -40 -20 20 40 60 -5000 -20 -10 0 10 20
diff_bpmdaX/um diff_bpmdaYium diff bpmdeX/um diff_ bpmdeY/um
. ™ ff . [hf . ff
I
40000 40000 40000 40000
20000 20000 20000 20000
= ok = ok
as :; m Sam 20000 20000 20000 20000
40000 40000 40000 40000
E‘DDDD_Illll II|II |III|III|III| E.DDDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II E‘DDDD_ | I |III|III| Eﬂnnn_llllllII|IIII|IIII|IIII|I
5 4 -2 ) 2 4 5 S0 -40 -30 -20 -10 O 10 20 30 40 40 20 20 40 &0 20 10 ) 10 20
diff bpmdaX/um diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium
' iff bpmd4aY iff iff bpmdeY
6000 [~ 000 [~ o 6000 | 6000 [~
4000 - 4000 [~ 4000 - 4000 [~
2000 2000 2000 2000 [~
b= i o b
as ’ m Sam ~2000 ~2000 | -2000 ~2000
— - - - -
-4000 ~4000 |- ~4000 ~4000 ;
B - - B A
~6000 [~ ~6000 [~ ' ~6000 [~ ~6000 [ ]
NN Ll I I _|||.|||||||||||||||||||||||||||||||||||||||||||| i | | Ly v by ol NN NN N N
~8000 -B —4 ] 0 2 4 B 'mm&n 40 -30 -20 10 O 10 20 30 40 ~8000 -40 -20 an 40 60 ~8000 -20 -10 0 10 20
diff_bpmdaX/um diff_bpmda¥ium diff_bpmdaX/um diff_bpmdaY/um
. ™ ff . .
| I | | I | I
10000 10000 | 10000 10000 |-
5000 - 5000 5000 5000
ok ok = ok
ASYIIl_Sa : : : :
-5000 ~5000 ~5000 ~5000
10000 10000 10000 [~ 10000 |
_IIII|II|II|III|III|III| i _II |IIII|IIII|I

run3921 000 regression-asvm

—E{?

tpan" Ppne

8000 —

6000 —

4000 —

2000 —

=2000 —

=4000

-6000

III|IIII|IIII|IIII|IIII|IIII|IIII|II
~5000 30 =20 =10 0 10 20 30
diff_bpmEfium

40000

20000 —

20000 —

40000 —

ol by by s by by by Iy
60000 =30 =20 =10 0 10 20 30

difi _bpmEfum
iff bpmE

6000 —
4000 —

2000 —

=2000 —

-4000 —

-6000

_R000 per v bvrvr v rr berra bvre s br b

30 =20 10 0 10 20 a0

diff_bpmEfum
ifL

10000 —

5000 —

=5000

10000 —

-30 20 =10 0 10 20 30
diff _bpmEfum



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run3921 000 regre

1500 [

1000 [

500

=500

=1000

=1500

=2000

3000

2000

1000

=1000

=2000

=3000

-4000

diff_bom4aX/um

1500

1000

500

-500

=1000

=1500

1500

1000

500

-500

=1000

diff_bpmdaxsum

diff_bpmdaX/um

SsIon-re

1500

1000 F

500

- 500

~1000 |

~1500

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
20005, 0 a0 20 -0 0 10 20 30 40
diff_bpmda¥ium

diff_bpmdaY

3000

2000

1000

=1000

2000

3000

|||||||||||||||||||||||;|||||||||||||||||||||||
_WDDE{F -4 <30 20 10 0 10 20 30 40
diff_bpmda¥ium

1500 —

1000 —

500 -

=500 —

=1000 —

=1500 —

prvrbvrre berrr b bvvrn bvrna e beraa bvrna b
50 40 30 =20 10 O 10 20 40
difi_bomdaYium

1500 —

1000

00—

=500 —

=1000 —

amI357T Vs di

1500 |

1000 F

500

-500

~1000 |

=1500

= 2000

3000

2000

1000

=1000

= 2000

=3000

=4000

1500

1000

200

-500

=1000

=1500

1500

1000

500

- 500

=1000

5
5
oL
3
5
2

diff_bpmdeX/um

diff_bpmdaX/um

diff _bpmdeX/um

ff “bpm-scat postp

1500 F

1000 F

500

=500

~1000 |

= 1500

= 2000

3000

2000

1000

=1000

= 2000

=3000

=4000

1500

1000

500

~500

= 1000

=1500

1500

1000

500

-500

= 1000

10 0 10 20
diff_bom4eY/um

=10 1] 10 20
diff_bpmday/um

10 0 10 20
diff_bpmdaY/um

10

an.png

1500

1000 F

500

-500

~1000 |

~1500 [

-2p00 Y

3000

2000

1000

=1000

2000

~3000

20 30
diff_bpmEfium

~4000 H

it

1500 —

1000 —

00 =

-500 —

=1000 —

=1500 —

20 an
difi _bpmEfum

1500 —

1000 —

500 —

-500 —

=1000 —

20 30
diff_bpmEfum

=30

-20

20 30
diff _bpmEfum




